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SCHOLASTIC APTITUDE TEST
INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.

1.

10.

Answers are to be bubbled only on the separate carbonless Answer sheet provided
to you. After examination detach the carbonless copy from original Answer sheet
& keep carbonless copy with you till the declaration of result.

Please write your Center Code & Seat No. very clearly (only one digit in one
block) on question paper. Before writing your seat no. ascertain it with Hall
ticket. Please see that no block is left blank or unfilled.

Example :

CENTRECODE |1 [ 1] 0|2

SEAT NO. M3 |3|9]|22|1T]1]02]1]2]3

Please ensure that you have received Scholastic Aptitude Test answer sheet.
Total number of questions are 90 for this paper. All questions carry one mark each.
All questions are compulsory.

For each question there are four options given in question paper. Check for the
correct answer and bubble correct option from four circles given in answer sheet
by Black/Blue pen. Please do not write any answers on question paper.

Start answering from first question one after another till the last question.

If you do not know the answer of any question, do not spend much time on it and
pass on to the next one. If time permits, you can come back to the questions which
you have left in the first instance and try them again.

Utilize the allotted time for solving the questions in best possible way. The rough
work is to be done in the box given under each page.

Do not write anything except Center Code, Seat No. and rough work anywhere in
this booklet
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001.

002.

003.

004.

Which of the following is an unit of temperature
(1)  calorie (2) joule

3) erg (4) kelvin

How much will the temperature of 104°F be in Celcius and Kelvin?
(1) 40°Cand273.15° K (2) 36.9°Cand313.15° K

(3)  40°C and 313.15°K (4)  36.9°C and 273.15° K

Observe the diagram and choose false pair

O
p Q
U
S
T
A

N
(1)  Seg PQ — Reflective surface (2) Ray AO — Incident ray
(3) Ray ON — Normal (4) Ray OT — Reflective ray
Find odd one out
Polypropylene, Polyester, Polyethylene, Polystyrene
(1)  Polyester (2) Polypropylene
(3)  Polyethylene (4) Polystyrene
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00s.

006.

007.

008.

The pressure exerted on solid by an object depends on

(1)  weight and contact area of object.

(2)  mass and contact area of object.

(3)  contact area of object only.

(4)  mass of object only.

The area of the tip of the screw is 5cm? and it’s weight is 0.5 N. Calculate the pressure exerted
by the screw on a wooden plank.

(1) 10°N/m? (2) 2x10°N/m?

(3) 0.2 x 10° N/m? (4) 20 x 10° N/m?

The potential difference between the two electrode in Lead-Acid cell is
(1) 20V 2) 2v

3 L5V 4) 02V

Among the following which is correct statement about solid.

(1)  Indefinite volume, definite shape, negligible compressibility.
(2)  Definite volume, definite shape, negligible compressibility.
(3)  Definite volume, indefinite shape, very high compressibility.

(4)  Indefinite volume, indefinite shape, negligible compressibility.
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NMMS-SAT-21-22 | VI | S2 |

%

By
2%
£ 98

RCAR'

R°8
2126921909126 9219692196 9212692196 9276 92126 92,36 9269
RORRCERCARCRR AR ERCABRCARCRR AR ER .

)20 9%126921269216 92136 92130 9126921269216 %10 912692326938
RRCARCARCAR AR ARARCAR AR L



22120 9%1269212692:126 92136 92130 9212692126 92126 %) 0 92126 921698
RORRCARCARCRR AR ARCARCABRCABR AR ARCAR R
21309%:1369212692196 92196 92196 9213692126 92196 92130 921969216 9%)%¢
RCBRCARCARCRR AR BRCARCARC LR BRCARCAKC R

_gcv_u:au;p.,g}éff Clreatind o e (e 2o L esBi ST 009,
e Qb P et (6 L Tl 2 ()t (A)
-JLT/;QC;A?)UTJJU?LP&( S B uamintle Sig st (gD toB (B)
e Bren 8 d Lot LT (C)
SF3ianU1e BonfBwetn e iyt S 36 (g pe) ot (D)

-‘L&}&b{d&gf]’}f
C,D,A, B (2) B,C, D, A (1)
B, A,D,C (4) D,C, A, B (3)

e UK A o,
YY) exbteds (1)
=7 (4) Pt (3)

LdbdL L6

NMMS-SAT-21-22 | VI | S2 |




009. Make correct sequence of observations / conclusion given below in the options related to

experiment of ‘sound is necessary for propagation of sound.’

(A) Ifthe vacuum pump is switched on, with decrease in air level, the level of ringing sound

heard decreases.

(B)  When vacuum pump is OFF, the bell jar contains air and key of electric bell is switched

on then ringing sound can be heard outside the bell jar.

(C)  To generate sound, medium is needed.

(D)  If the vacuum pump is operated for sufficiently long period, the quantity of air like

inside the bell jar will be low. At this point the level of ringing sound also be very low.

(1) B,C,D,A (2) C,D,A,B
3) D,CAB (4) B,A,D,C

010. Function of machine metal detector is based on

(1)  Electromagnet (2) Electricity
(3)  Magnetism (4) Heat
Space for Rough Work
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011. What is the sound level of normal breathing?
(1) 0dB (2) 5dB

(3) 10dB 4) 60dB

012. Rutherford’s nuclear model of atom. Which of the following particles get bombarded with gold

)20 9%126921269216 92136 92130 9126921269216 %10 912692326938
RRCARCARCAR AR ARARCAR AR L
CRRCARCARCRR AR BRCARCRR LR E

foil.
(1)  Helium (2) Beta
(3)  Silver (4) Gamma

013. Indentify the skeleton of Electronic configuration for potassium.

(1) 2) ) “4)

014. The given reaction is of formation of ions. Choose correct option for A and B.

P+@%P

(1) A=2e,B=-2 (2) A=3e,B=-2
3) A=2e,B=-3 4) A=3e,B=-3
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015.

016.

017.

018.

019.

020.

The Famous Historical Monument is prepared by a mixture of carbon, silicon and phosphorous
mixed in Iron. Identify it.

(1)  Tajmahal (2) Statue of Liberty
(3)  Kutubminar (4) Golconda Fort

Hard water does not form lather with soap. It is because of the following salt.
(1)  Chloride and sulphate salt of calcium and magnesium

(2)  Chloride and sulphate salt of calcium and sodium

(3)  Chloride and sulphate salt of sodium and magnesium

(4)  Chloride and sulphate salt of magnesium and berillium

The given molecule which does not form electrovalent bond is
(1) KCIl (2) HCl
(3) NaCl (4) MgCl,

Protein is made up of
(1)  Amino acid (2) Carbonic acid
(3)  Hydrochloric acid (4) Chlorophyll

In Acidity resistant medicines the chemical used is
(1) NH,OH (2) NaOH
(3) Mg(OH), (4) KOH

Identify the reversible change in the following process.
(1) A meteor streaking across the sky

(2)  Melting of wax

(3)  Ripening of mango

(4)  Flow of heat from higher temperature to lower temperature
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021. For the treatment of cancer the medicinal plant used is
(1)  Adulsa (2) Cinchona
(3) Neem (4) Periwinkle
022. Copper ring get corroded by forming a greenish deposition on it. This change is caused by
gas.
() H, 2) O,
(3) CO, 4) SO,
023. Which of the following Blood group is known as ‘Universal Donar.’
1 A (2) B
(3) AB 4 O
024. Saliva in mouth contains enzyme.
(1)  Ptyalin (2) Maltose
(3)  Pepsin (4) Mucous
025. Due to ‘Acid Rain’ which of the following metal indirectly absorbed by plants and thus enters
food chain.
(1)  Mercury (2) Uranium
(3)  Thorium (4) Lead
026. Which of the following functional unit of the cell transfers herited traits to next generation.
(1)  Mitochondria (2) Endoplasmic Reticulum
(3) Gene (4) Lysosomes
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027.

028.

029.

030.

When in water, frog breathes with
(1)  nose (2) cannal

(3)  lungs (4) skin

Which of the following organelles is found only in plant cell?
Golgi complex, chloroplast, mitochondria, vacuole.

(1)  Golgi complex (2) Chloroplast
(3)  Mitochondria (4) Vacuole

Which of the following is Fungus.

Algae, Amoeba, Penicillium, Euglena

(1) Algae (2) Amoeba
(3)  Penicillium (4) Euglena

Identify the scientific instrument shown below.

(1)  Simple microscope (2) Compound microscope
(3)  Telescope (4) Periscope
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031. Size of virus is approximately

(1) 10 um to 100 um (2) 1tolOum

(3) 200 um (4) 10nm to 100 nm
032. ‘Elephantiasis’ is caused due to female of mosquito.

(1)  Anopheles (2) Culex

(3)  Aedes aegypti (4) Den-1
033. Find odd word out of given below.

Earthquake, Tsunami, Drought, Bomb-blast

(1)  Earthquake (2) Tsunami

(3) Drought (4) Bomb-blast
034. Find out false statement from given below.

(1)  Mitochondria prepares energy rich ‘ATP’ compound

(2)  Vacuoles regulates osmotic pressure of the cell

(3)  Various colours of flowers and fruits are due to leucoplasts

(4)  Chloroplast absorbs solar energy and converts it into chemical energy
035. Which of the following blood vessel carries oxygenated blood.

(1)  Pulmonary vein (2) Pulmonary Arteri

(3)  Superior vena cava (4) Inferior vena cava
036. Whose information we get at Manibhawan in Mumbai?

(1)  Swatantryaveer Sawarkar (2) Mahatma Jyotirao Phule

(3)  Lokmanya Tilak (4) Mahatma Gandhi
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037. Find out the correct option as per the chronology of events.
(D Prince of Wales, welcomed by organizing Hartal
(I)  Jallianwala Baug Massacre
(IIT) ~ Supension of Non-cooperation movement
(IV)  The Swaraj party was established by Indian National Congress
(1) ILLIULIV 2) 0OLILIV,I
3) ILIOLIV,I 4) LILIV, I
038. Changes made by the Government of India Act 1858 are given below. Find out the wrong
statement related to it.
(1) It ended the Rule of British East India Company
(2)  The Voiceroy of India was now designated as The Governer General
(3) A new post of secretary of state was created.
(4)  The Governer General was now designated as The Voiceroy of India.
039. The resolution of Non-cooperation movement put forth by was accepted in The
Indian National Congress session held at Nagpur.
(1)  Lala Lajpat Rai (2) Pandit Jawaharlal Nehru
(3)  Chittaranjan Das (4) Motilal Nehru
040. Who sent Sir Stafford Cripps to India to get Co-operation from the Indians, if Japan attacks
India.
(1)  Winston Churchill (2) Ramsaye Macdonnald
(3)  Lord Burkonhead (4) Lord Linalithigo
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041. According to Regulating Act of 1773 who was appointed as The Governor General of Bengal.

(1)  Lord Wellessly (2) Lord Cornwallis
(3)  Lord Warren Hastings (4) Lord Curzon

042. Observe the Reformer in the picture and choose the event which is related to the respective

reformer

(1)  Started Aanath Balikashram at Pune
(2)  Foundation of work schools at Parel Devenar in Mumbai
(3)  Leadership accepted of Mulashi Satyagrah

(4)  Foundation of Mill workers organization

043. Identify the society which had objective of creating love for country. Teach them sacrifice of

self interest.
(1)  Servants of India Society (2) Prarthana Samaj (Society)
(3)  Aarya Samaj (Society) (4) Satya Shodhak Samaj

044. Who started the magazine called ‘Somavanshi Mitra.’

(1)  Gopalbaba Valangkar (2) Mabharshi Vitthal Ramji Shinde
(3)  Perriyar Rama Swamy Naykar (4) Shivram Janba Kamble
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045.

046.

047.

048.

Who put forth the proposal of Samyukta Maharashtra with Mumbai in the Mumbai Municipal

Corporation?
(1)  Aacharya Atre (2) Senapati Bapat
(3)  Shankar Rao Dev (4) S.M. Joshi

Shivaji Maharaj appointed the Council and the Heads of various department on the basis of

their merits and achievements.

Identify the option of wrong pair out of it.

(1)  Babhirji Naik — Head of the intelligence department
(2)  Moreshwar Panditrao — Dispensing justice

(3)  Daulat Khan — The Chief Naval Commander

(4)  Hambirrao Mohite =~ — Sarnobat of the cavalary

Identify the name of the society where Maharshi Vitthal Ramji Shinde served as a member?
(1)  Aarya Samaj (2) Satya Shodhak Samaj

(3)  Prarthana Samaj (4) Bramho Sama;j

Identify the period of Century when the European sailors went on expedition to discover sea

route to India?

(1) 15" Century (2) 16™ Century
(3) 17" Century (4) 18" Century
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049.

050.

051.

052.

053.

Who composed a Powada in 1869 CE on Shivaji Maharaj?
(1)  Lokmanya Tilak (2) Ravindra Nath Tagore

(3) Mahatma Jyotirao Phule (4) Pitamah Subramanyam Bharati

Who subdued the Rohillas, the Jat’s, the Bundellas with the help of his trained army?
(1)  Malharrao Holkar (2) Parsoji Bhosale

(3) Nana Fadanavis (4) Mahadji Shinde

In which form of government the legislature and executive are not directly dependent on each

other?
(1)  Parliamentary (2) Presidential

(3)  Socialism (4) Military Rule

members are elected from the constituent states and union territories among the

total membership of Rajya Sabha.
(1) 250 2 12

(3) 288 (4) 238

Though India has 29 constituents states, the total numbers of Vidhan Sabha (Legislative

Assembly) in India are

() 29 (2) 30
3) 31 4) 32
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054. Which law is dealt with the crimes like theft, robbery, dowry, murder etc.?
(1)  Criminal (2) Civil
(3)  Worker (4) Military
055. The order of the courts commanding the government to perform an action that is it’s duty to
perform in public interest is called
(1)  Mandamus (2) Quo-warranto
(3)  Prohibition (4) Habeas Corpus
056. The density of the lower mantle is about
(1) 290gm/cm’ (2) 3.3 gm/cm’
3) 5.7 gm/cm’ (4) 9.8 gm/cm’
057. clouds are mainly wispy.
(1)  Cirrus (2) Cirro - stratus
(3)  Cirro - cumulus (4) Alto - stratus
058. Identify the wrong pair.
A)  Hot Desert Region - Camel
B)  Taiga Region - Elks
C)  Grasslands - Kangaroos
D) Tundra Region - Tse-tse Fly
I A (2) B
3 C “4 D
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059.

060.

061.

062.

The world has been divided into time zones.

(1) 24 2) 15

3) 60 4) 4

The average depth of the ocean is around meters.
(1) 3600 (2) 8848

(3) 3700 (4) 11034

Identify the option of correct pairs.

A - Name of the wind

B - Areas of influence

1) | Loo A) | From the Alps mountain

2) | Bora B) | Blows in the North Indian plains

3) | Chinook C) | From the Sahara and Arabian desert

4) | Simoom D) | From the slopes of Rocky mountain
(1) 1-B,2-A,3-D,4-C 2) 1-A,2-B,3-C,4-D
3) 1-D,2-A,3-D,4-C 4 1-B,2-C,3-A,4-D

When moon is at the farthest, the position from earth is called

(1)
€)

Perigee

Lunar Eclipse

(2) Apogee

(4) Solar Eclipse
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063. At the centre of the earth, the temperature is around

(1)  2200°C to 2500°C (2) 2500°C to 5000°C

(3)  5500°C to 6000°C (4) 2000°C to 2200°C
064. Our earth was formed approximately billion years ago.

(1) 560 (2) 260

() 360 (4) 460
065. The temperature of the liquid outer core is around °C.

(1) 2500 (2) 6000

(3) 5000 (4) 2870
066. Name the landform shown with letter ‘A’ in the given figure.

AD

(1)  Marine Trenches (2) Abyssal Plains

(3) Marine Island (4) Continental Shelf
067. Areawise is the large state in India.

(1)  Uttar Pradesh (2) Maharashtra

(3) Madhya Pradesh (4) Rajasthan
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068. In the figure of Maharashtra state land use 2010-11. Which one is indicated by letter ‘D’.
(1)  Fallow land (2) Non agriculture land
(3)  Areaunder forest (4) Area under crops
069. Under Corporate Social Responsibility industries are expected to spend atleast of
their profits on acts benefitting the society.
(1) 3% 2) 2%
3 1% 4) 4%
070. Sverdrup unit is equivalent to million cu.m/seconds discharge.
(I) 9.8gm 2 5
(3) 10 4 3°
071. Find the difference between smallest natural number and biggest negative Integer?
(I 0 2 1
G 2 4) 8
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072. What is cube root of 243897
() 19 2 29
3) 39 4) 49
073. For a principal X 10,000 the difference between Compound Interest and Simple Interest for 2
years is X 81 Find the rate of interest?
(1 TI8% 2 7%
3 I% 4 R 10%
074. @+ (x-7)=7
(1) x?*+16x-63 (2) x*+2x-63
(3) x*-2x-16 4) x*-2x-63
075. A circle with centre O having radius 14 cm is inscribed in a square ABCD. Find the area of
shaded portion.
A B
/ 14 cm
%}j |
D C
(1) 164 sq.cm (2) 168sg.cm
3) 172 sq.cm (4) 184 sq.cm
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076.

077.

078.

079.

If 40 labourers can complete one work in 18 days then 36 labourers can complete the same

work in how many days?
(1) 20 2) 21

(3) 24 4) 26

If opposite angles of a parallelogram are (4x — 20)° and (100 — x)° then find the value of x ?
(1) 5 (2) 10

3) 15 4) 24

One shopkeeper after giving a discount of 15% sold one saree to customer for X 1020. Find

the marked price of saree?
(1) X 1500 (2) 1300

(3) T 1200 4) T 1100

If two sides and angle included by those two sides of one triangle is congruent to corresponding

two sides and angle included of other triangle.

Then those two triangles are congruent by which test of congruency?

() A-S-A 2) S-A-S
3 A-A-S 4 S-S-S
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080. Which is the irrational number from the following?
n 3 2) 3.142857
3 V4 @ V7
081. Water tank of length 4m, breadth 3m and height 1.5 meter is constructed. How much litre
water the tank can hold?
(1) 1800 (2) 18000
(3) 1500 (4) 15000
082. (@*+17x+70)+(x+10)="?
(1 x+12) 2 x+7)
3) +14) 4 x+17)
083. 3 years back Ramrao purchased a car for ¥ 600000. If its rate of depreciation is 10 % per year.
Find the present value of a car.
(1) 437400 (2) 438400
(3) 437500 (4) 438490
084. A cube is having 6 faces (F) and 12 Edges (E). Find the number of vertices (V) of the cube?
(H 10 2) o6
3 8 4 14
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085. Find the area of an equilateral triangle having side 10 cm.
(1) 503 sq.cm (2) 1042 sq.cm
(3) 25V2 sq.cm 4) 253 sq.cm
086. What are the factors of m* +27?
() Mm+3)(m*+3m+9) 2) (Mm+3)(m>+6m+9)
3 @Mm+3)(m-3m+9) 4 (@Mm+3)(m*-6m+9)
087. Ina frequency distribution table if £fiXi = 1740 and N = 25. Find X =?
(1) 595 (2) 69.6
3 174 4) 785
088. x’—2x—35  x'—2x+15 _,
2 2 =
X —4x—21 x =25
(H 1 2) x+5
(x+3)
3) x-3 4) (x—7)
089. 5x9+ 7 3 thenx=
(1) 27 2 4
3 3 @ 9
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090. From the information given below find the area of plot PQRST?
Side of square = 60 metre

Hypotenuse of ARST = 61 metre

"ot ¢
=
o _| 4
< T
(=]
\O
T L] H [IR
67
Ihe,re S
(1) 3600sq.m (2) 360sqg.m
(3) 3660sq.m (4) 3930sq.m
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RRCARCARCAR AR ARARCAR AR L



For rough work only

3212892130 92130 9212892126 92136 92136 9212692126 92126 9%136 9136 92,8
RORK AR AR AR AR AR AR AR AR AR LR AR A
3281301389 08 9% 89136 9136 9213692128 97126 9136 9196 9%
ROBKBRCBRCARCARCBR BR ARCARC AR ER AR A
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For rough work only

NMMS-SAT-21-22 | VIII | S2 |

693692, 06 98 36983692, 3693692, 98
ORI R R R I AR RINORR

2269212692196 92130 9126921269216 910 %1%
ROARCARCARCAR AR AR ARCAR A

Y

KR



32289130 9130 9212892128 92136 9136 9212692126 92126 9%)36 9136 92,8
ROARCARCAROBR AR ARCAR AR AR AR ARCAR E
3138951289138 9%136 92126 97136 9126 92136 9%136 921697136 9216918
ROBKRRCBRCAKCAKBR AR ARCAKCRKCR AR A

For rough work only

3212892130 92130 9212892126 92136 92136 9212692126 92126 9%136 9136 92,8
RORK AR AR AR AR AR AR AR AR AR LR AR A
3281301389 08 9% 89136 9136 9213692128 97126 9136 9196 9%
ROBKBRCBRCARCARCBR BR ARCARC AR ER AR A
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